Horizontal: S1

Subtracting Decimals | Thousandths

1) 407.326 - 83.105 = 2) 543.218 - 9.753 =
3) 196.707 - 5.748 = 4) 258.182 — 42.435 =
5) 54.623 - 36.821 = 6) 7.601 - 0.568 =
7) Inarace, Emma completed the first lap in 72.345 seconds and the second lap in

58.976 seconds. What was the difference in time between her first and second
laps?

a) 13.369 seconds b) 10.384 seconds c) 21.064 seconds

Mabel bought 10.958 yards of fabric. She used 4.522 yards for a project. How
many yards of fabric does she have left?

a) 6.043yards b) 6.436 yards c) 6.36yards

Quinton had 48.903 inches of ribbon. He used 15.254 inches for gift wrapping.
How many inches of ribbon does he have left?

a) 33.568 inches b) 33.763 inches c) 33.649inches
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